Precalculus
9.2 Notes: Ellipses

Ellipse: the set of all points (x, y) in a plane, the sum of whose distances from two fixed points
called foci is constant. @
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» The line through the foci intersects the ellipse at two points called \JQ,\""\'*i oS
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> The chord perpendicular to the major axis at the center is the AN A YIS

» To recognize that the equation of a conic is an ellipse, notice that there are two quadratic terms
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Write each equation in standard form, find all indicated in formation and sketch the graph.
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